amd64, renoir, crypto_encrypt, encrypt time, ciphertext size

Horizontal axis: Time (cycles) to generate a ciphertext given a message and a public key (crypto_encrypt).
Vertical axis: Space overhead (bytes) for encrypting a long message (at most crypto_encrypt_BYTES).

‘B’ means that the SUPERCOP database does not list constant time as a goal for this implementation.

218
llncnie4dq2562
o7 Mllncnie3q1281<s /-mcnie3q1282/ -
- P
~ / p
_ - - = g » ‘e ‘ P < = —llncnie3q2561
Elncniedqi2si— — - - » /’ - I
216 - 7 L S
_ - P <,/ o — T — — —llncnie3q1921
Blncnicdqize>— 7 P s / T~ -
P - , // // = ~Jlincnie3q2562
e /
215 : Wlocniedq1921- ) s lncniesqions/ Mledapkc5264
/ /
/
Wlncniciq2s6t” / -r5n15pke0d\ p / P 1 edapkc52s1
// \ . llr5n13pkepd _ -
14 Elincniedq1922 / / -
2 e/ / P
ledapkc32sl / -
Il edapkc32s1 . / - / _ 1 edapkc53s1
N i -
‘ -
-ledapk<:3264\ ~ o -led/akaBSSl e
213 ~ > e S
>~ - ~ . | [ 2 == —fll1 edapkc54sl
Ml:r5n1ipkeOd— — — . P | o — —
~
- _
e — ==
12 Ell1otus256, ¢ o T T —lllledapke5364
~ —
- 50d3pkeOdy \ & N ~ ~ - ~ < _
N \ 14 N ~ - - ~Jll1edapkc5464
N N ~
-r5nd1pk95d\ \\ N ! Q N N - ~ h ~
211 N N . 9 \& N N “Ellledapkc336n
N / AN N N P ~
Elllotus128\ \ . \Q ~
N / D N\ N ~
\ N \ ’ (I N NEl1edapkei2st Il edapkc3asl
\ N \ ) / L AN N
\ o ) 1 ! \ EMlledapkc14sl
210 -cargncu1t2048 | \ [\ N
N I ¢ N
? | \ Iy N \
| \ / \ AN
| \ ./ | \ -loqu5192/ \ \ \ N \ Ellledapkc3464
204 - \ \
I 22048, I > / | EEedaprcized \ h
\ | - / q \ \ \
29 AN ~ - I \ ! _ A\ AN
\ I P l:-5nd3pkesd | \ Ledapkc1464 .
\ | Elr5nd1pke0d— | ! \ \Ell1edapkc13sl \
\ . | | \B:-5nd5pkesd \ \
28 ‘ v -r5nd5pkeod, \ \-rSnv13pkeOsma11ct
\
I-rona1d2048 -ledapkc1364 _Mlparsals
-
Ellnceliece ! - -
~ / [ 2
27 N / _lronald3072
Mi-onald1024~ - S e | - -
~
~ / -
-~ ~ ' — —EEronald4096
- e e & - - — —
ronald15636— —
26
25
26 27 28 29 210 211 212 213 214 215 216 217 218 219 220 221 222 223 224 225 226

227

228

229

https://bench.cr.yp.to
20240911

230 231 232



